A GUIDE TO THE CALCULATION OF PENSIONS

UNDER THE OLD PENSION SCHEME

A.
Interpretation



A number of terms are used in this Guide and they are defined as follows -


(a)
“ Established office” means an office declared to be an established office by an Order made by the Chief Executive and published in the Gazette.  (Such an office was previously known as pensionable office.)


(b)
“ Non-established office” means an office in the public service which is not an established office.  (Such an office was previously know as non-pensionable office.)


(c)
“ Category A officer” means an officer who is appointed to an established office and who is confirmed in an established office at the time of his retirement or resignation from the service;



“ Category B officer” means an officer who is -



holding a non-established office at the time of his retirement or resignation from the service; or



holding an established office at the time of his retirement or resignation from the service and who is not confirmed in an established office.


(d)
“ Qualifying service” means service which may be taken into account in determining whether an officer is eligible by length of service for pension, gratuity or other allowance under the Pensions Ordinance and Regulations, Cap 89.  It counts from the date an officer begins to draw salary in respect of his public service to the date of his leaving public service, provided that the period of service is in a civil capacity and is continuous.


(e)
“ Pensionable service” means the service which may be taken into account in computing a Category A officer’s pension.  Only service in an established office shall be taken into account as pensionable service.  The following do not count as pensionable service -



(i)
service on gratuity-bearing agreement terms unless the officer has refunded the gratuity received (if any) with interest;



(ii)
service on agreement on monthly terms not providing for payment of a gratuity or on probation unless without break of service the officer is confirmed in an established office; and



(iii)
period of the officer’s absence from duty without salary.


(f)
“ Reckonable service” means service to be taken into account in computing a Category B officer’s retirement benefits.


(g)
“ Pensionable emoluments” means -



(i)
in the case of an officer on 100% pensionability, 100% of his substantive salary and expatriation pay, personal allowance and special allowance, if any;



(ii)
in the case of an officer on 90% pensionability, 90% of substantive salary and special allowance, if any, and 50% of expatriation pay, and 100% of personal allowance, if any;


(h)
“ Salary” (applicable to Category B officers’ cases only) means



-
remuneration exclusive of cost of living allowance or other allowance or extra pay for work done in hours which are beyond the normal working period.

2.

The definitions provided are not necessarily applicable where the terms defined are used outside this Guide.

B.
Grant of Annual Pension for Category A Officer

3.

An annual pension will be granted when a Category A officer leaves the service under approved circumstances as set out below -


(a)
retirement at the normal retirement age of 55 after completion of qualifying service of not less than 10 years;


(b)
voluntary early retirement on or after his attaining the age of 45, with the approval of the Chief Executive, after completion of qualifying service of not less than 10 years;


(c)
retirement on redundancy (i.e. on abolition of office or on re-organization of the department to effect greater efficiency) irrespective of the period of qualifying service completed;


(d)
retirement on invaliding after completion of qualifying service of not less than 10 years;


(e)
retirement in the public interest irrespective of the period of qualifying service completed;


(f)
compulsory retirement on disciplinary grounds irrespective of the period of qualifying service completed; and


(g)
retirement in accordance with any compensation scheme irrespective of the period of qualifying service completed.

4.

A pension granted under circumstances (e) and (f) above shall not be payable until the officer attains the age of 55 years.

C.
Grant of Annual Allowance for Category B Officer

5.

An annual allowance will be granted when a Category B officer leaves the service under approved circumstances as set out below -


(a)
retirement at the normal retirement age of 55 after completion of qualifying service of not less than 10 years;


(b)
voluntary early retirement on or after his attaining the age of 45, with the approval of the Chief Executive, after completion of qualifying service of not less than 10 years;


(c)
retirement on redundancy (i.e. on abolition of office or on re-organization of the department to effect greater efficiency) irrespective of the period of qualifying service completed;


(d)
retirement on invaliding after completion of qualifying service of not less than 10 years;


(e)
retirement in the public interest irrespective of the period of qualifying service completed; and


(f)
compulsory retirement on disciplinary grounds irrespective of the period of qualifying service completed.

6.

An annual allowance granted under circumstances (e) and (f) above shall not be payable until the officer attains the age of 55 years.

D.
Grant of Short Service Gratuity

7.

An officer who retires from the service before completing the period of qualifying service specified above will not be eligible for a pension but will be eligible for a one-off payment of short service gratuity.

E.
Calculation of Annual Pension and Annual Allowance

8.

A Category A officer’s annual pension or a Category B officer’s annual allowance is calculated as follows -

	Category A
:

officer
	Highest annual pensionable emoluments
	x
	Length of pensionable service (in months, any residual period of less than a complete month would be taken into account as a fraction of a complete month of 30 days)


	x   Factor

	Category B
:

officer
	Highest annual salary
	x
	Length of reckonable service (in months, any residual period of less than a complete month would be taken into account as a fraction of a complete month of 30 days)
	x   Factor


9.

If a Category A officer had a period of service in a non-established office, and such service was immediately followed by service in an established office and the officer is subsequently confirmed in an established office, only ¾ of his service in the non-established office will be taken into account as pensionable service of a Category A officer.

10.

The factors for computation of retirement benefits are as follows -


(a)
in the case of a Category A officer -



1/600;


(b)
in the case of a Category B officer -



1/800 for service under the Government up to 25 years; and



1/600 for service under the Government in excess of 25 years.

11.

The annual pension payable to a Category A officer and the annual allowance payable to a Category B officer are subject to a maximum of two-thirds of the highest annual pensionable emoluments enjoyed by a Category A officer and the highest annual salary enjoyed by a Category B officer respectively.

12.

An officer may elect to have his annual pension or annual allowance converted into a reduced pension or a reduced annual allowance of 75%, 80%, 85%, 90% or 95% of the full pension or annual allowance together with a commuted lump sum pension gratuity or annual allowance gratuity equal to 14 times the amount of annual reduction.  This option for a commuted pension gratuity or commuted annual allowance gratuity and a reduced pension or a reduced annual allowance must be made before the effective date of the officer’s retirement.

*
It should be noted that the “officers” referred to in the examples in subsections E to K in this section are assumed to be on 100% pensionability throughout their service in the Government unless stated otherwise.

Examples
I.
A Category A officer retiring with highest pensionable emoluments at $27,000 p.m. and 300 months’ pensionable service -

	Unreduced annual pension
	=
$324,000 (highest annual pensionable emoluments) x  300 (months)  x  1/600 (factor)

=
$162,000 p.a.



He may commute 25% of this pension into a lump sum as follows -

	Commuted pension gratuity


	=
$162,000  x  25%  x  14

=
$567,000

	plus


	

	Reduced annual pension
	=
$162,000  x  (1  -  25%)

=
$121,500 p.a.


II.
A Category A officer had 200 months’ service in a non-established office followed immediately by 100 months’ service in an established office before retirement, and has attained highest pensionable emoluments at $27,000 p.m. -
	Unreduced annual pension
	=
$324,000 (highest annual pensionable emoluments) x  (200  x  ¾  +  100) (months)  x  1/600 (factor)

=
$135,000 p.a.



He may commute 25% of this pension into a lump sum as follows -

	Commuted pension gratuity


	=
$135,000  x  25%  x  14

=
$472,500

	plus


	

	Reduced annual pension
	=
$135,000  x  (1  -  25%)

=
$101,250 p.a.




III.
A Category B officer retiring with the highest salary at $10,200 p.m. and 350 months’ service -
	Unreduced annual allowance


	=
$122,400 (highest annual salary)  x  [300 (months) x  1/800  (factor)  +  50 (months)  x  1/600 (factor)]

=
$56,100 p.a.



He may commute 25% of this annual allowance into a lump sum as follows -

	Commuted annual allowance gratuity


	=
$56,100  x  25%  x  14

=
$196,350

	plus


	

	Reduced annual allowance
	=
$56,100  x  (1  -  25%)

=
$42,075 p.a.




IV.
A Category B officer retiring with the highest salary at $10,200 p.m. and 500 months’ service -

	Unreduced annual allowance


	=
$122,400 (highest annual salary)  x  [300 (months) x  1/800 (factor)  +  200 (months)  x  1/600 (factor)]

=
$86,700 p.a.

But since $86,700 p.a. exceeds 2/3 of highest annual salary, the maximum unreduced annual allowance payable will be $81,600 p.a.





He may commute 25% of this annual allowance into a lump sum as follows -

	Commuted annual allowance gratuity


	=
$81,600  x  25%  x  14

=
$285,600

	plus


	

	Reduced annual allowance
	=
$81,600  x  (1  -  25%)

=
$61,200 p.a.




F.
Calculation of Short Service Gratuity

13.

For an officer who retires from the service with less than the specified qualifying service, the short service gratuity payable is equal to 7 times the annual pension or annual allowance for which the officer would have been payable had there been no requirement for qualifying service.

Examples

I.
A Category A officer retiring with the highest pensionable emoluments at $27,000 p.m. and 60 months’ pensionable service -

	Short service gratuity
	=
$324,000 (highest annual pensionable emoluments)  x  60 (months)  x  1/600 (factor) x  7

=
$226,800


II.
A Category B officer retiring with the highest salary at $10,200 p.m. and 60 months’ service -
	Short service gratuity
	=
$122,400 (highest annual salary)  x  60 (months) x  1/800 (factor)  x  7

=
$64,260


G.
Retirement on Invaliding

14.

If an officer who is invalided from the service and whose period of qualifying service is -


(a)
not less than 5 nor more than 20 years; or


(b)
more than 20 years but whose pensionable service (if the officer is a Category A officer) or reckonable service (if the officer is a Category B officer) is less than 20 years,

the length of service for calculating his retirement benefits will be


(a)
twice the actual period of his pensionable service or reckonable service, subject to a maximum of 20 years; or


(b)
the period of pensionable service or reckonable service that he would have completed if he had served until attaining the age of 55;

whichever is the lesser.

Examples

I.
A Category A officer who is invalided after completing 10 years’ (120 months’) service at the age of 40 with the highest pensionable emoluments at $27,000 p.m.

	Unreduced annual pension


	=
$324,000 (highest annual pensionable emoluments) x  120  x  2 (enhanced months of service)  x  1/600 (factor)

=
$129,600 p.a.



He may commute 25% of this pension into a lump sum as follows -

	Commuted pension gratuity


	=
$129,600  x  25%  x  14

=
$453,600

	plus


	

	Reduced annual pension
	=
$129,600  x  (1  -  25%)

=
$97,200 p.a.




II.
A Category B officer who is invalided at the age of 45 after completing 10 years’ (120 months’) service, with the highest salary at $10,200 p.m.

	Unreduced annual allowance


	=
$122,400 (highest annual salary)  x  120  x  2 (enhanced months of service)  x  1/800 (factor)

=
$36,720 p.a.



He may commute 25% of this annual allowance into a lump sum as follows -

	Commuted annual allowance gratuity


	=
$36,720  x  25%  x  14

=
$128,520

	plus


	

	Reduced annual allowance
	=
$36,720  x  (1  -  25%)

=
$27,540 p.a.




H.
Retirement on Redundancy

15.

An annual pension or annual allowance is granted to an officer who retires from service on abolition of office or on re-organization of the department to effect greater efficiency, irrespective of the period of qualifying service completed.  On top of the annual pension or annual allowance, an additional pension or additional annual allowance is granted at the following prescribed rate -


(a)
in the case of a Category A officer - 1/60 of his annual pensionable emoluments for each complete period of 3 years pensionable service;



Provided that -



(i)
the addition shall not exceed 10/60; and



(ii)
the additional pension together with the remainder of the officer’s pension shall not exceed the pension for which he would have been eligible if he had continued to hold the office held by him until the date of his retirement having received all the increments for which he would have been eligible by that date.


(b)
in the case of a Category B officer -



(i)
1/80 of his annual salary for each complete period of 3 years service under the Government up to 24 years;



(ii)
11/720 of his annual salary for the complete period of 3 years service under the Government after 24 years; and



(iii)
1/60 of his annual salary for each complete period of 3 years service under the Government after 27 years.



Provided that -



(i)
any such additional annual allowance shall not exceed 10/80 of the officer’s annual salary; and



(ii)
any such additional annual allowance together with the remainder of the officer’s annual allowance shall not exceed the annual allowance for which he would have been eligible if he had continued to hold the office held by him until the date of his retirement having received all the increments for which he would have been eligible by that date.

Examples
I.
A Category A officer who is retired at the age of 40 on redundancy after completing 18 years’ service, and his highest pensionable emoluments at $27,000 p.m. which is the maximum of his rank’s salary scale.

	Additional unreduced annual pension


	= $324,000  x  18/3  x  1/60

= $32,400 p.a.
	

	Unreduced annual pension at normal rate


	= $324,000  x  216  x  1/600

= $116,640 p.a.
	

	Total unreduced annual pension
	= $32,400  +  $116,640 p.a.

= $149,040 p.a.
	



He may commute 25% of this pension into a lump sum as follows -

	Commuted pension gratuity


	=
$149,040  x  25%  x  14

=
$521,640

	plus


	

	Reduced annual pension
	=
$149,040  x  (1  -  25%)

=
$111,780 p.a.




II.
A Category B officer who is retired at the age of 52 on redundancy after completing 30 years’ service and the highest salary attained is $10,200 p.m. which is the maximum of his rank’s salary scale -


Complete period of 3 years’ unbroken service under the Government :


(a)
up to 24 years  =  24/3  =  8


(b)
after 24 years up to 27 years  =  27 - 24   =  1




3

(c)
after 27 years  =   30 - 27   =  1




3
	Additional unreduced annual allowance
	= $122,400  x  (8  x  1/80  +  1  x  11/720


+  1  x  1/60)

= $16,150 p.a.



	
	however this amount exceed 10/80 of $122,400

(i.e. $15,300) hence additional unreduced annual allowance = $15,300



	Unreduced annual allowance at normal rate


	= $122,400  x  (300  x  1/800  +  60  x  1/600)

= $58,140 p.a.

	Total unreduced annual allowance
	= $15,300  +  $58,140 p.a.

= $73,440 p.a.


But if he retires at the normal retirement age of 55, he would have completed 33 years’ reckonable service and his unreduced annual allowance will be $122,400 x (300 x 1/800 + 96 x 1/600) = $65,484 p.a.  Since the addition together with the remainder of the officer’s annual allowance ($73,440 p.a.) exceed the annual allowance for which he would have been eligible if he had retired at the normal retirement age ($65,484 p.a.), the officer will therefore only be eligible for a total annual allowance of $65,484 p.a.


He may commute 25% of this annual allowance into a lump sum as follows -

	Commuted annual allowance gratuity


	=
$65,484  x  25%  x  14

=
$229,194

	plus


	

	Reduced annual allowance
	=
$65,484  x  (1  -  25%)

=
$49,113 p.a.




I.
Additional Pension for Injury On Duty

16.

When an officer is permanently injured -


(a)
in the actual discharge of his duty;


(b)
not due to his own serious and wilful misconduct; and


(c)
on account of circumstances specifically attributable to the nature of his duty,

he shall be granted an additional pension on retirement where his capacity to contribute to his own support becomes impaired at or after the retirement, provided that no compensation has been paid under the Employee’s Compensation Ordinance or the Pneumoconiosis (Compensation) Ordinance or the Occupational Deafness (Compensation) Ordinance in respect of the same injury.

17.

The annual additional pension is calculated by multiplying the annual pensionable emoluments (in case of a Category A officer) or annual salary (in case of a Category B officer) drawn by the officer at the date of his injury with -


(a)
if the injury occurred before 1.2.93, the following rate according to the degree of impairment as determined by a Medical Board -



Slightly impaired
-
50/600



Impaired
-
100/600



Materially impaired
-
150/600



Totally destroyed
-
200/600



The amount of additional pension payable may however be reduced if the injury is not the cause or the sole cause of retirement; or


(b)
if the injury occurred on or after 1.2.93, the actual percentage of such permanent incapacity.  The amount of additional pension payable will not normally be reduced.

J.
Daily-rated Staff

18.

A daily-rated officer who has not less than 5 years’ continuous service may, if he retires in one of the circumstances prescribed in paragraph 5(a), (b), (c) and (d), be granted a lump-sum gratuity of 15 times the rate of pay per day at the date of retirement for every completed period of 12 months’ service (i.e. about 2 weeks pay for each year of service).  The following example shows how it is calculated :


Example :


60 months service = 5 years


Gratuity = 15 x 5 x rate of pay per day

K.
Service partly as a daily-rated officer and


partly as a monthly-paid officer

19.

An officer who has served partly as a daily-rated officer and partly as a monthly-paid officer may, if he retires in one of the circumstances prescribed in paragraph 5(a), (b), (c) and (d), be granted the following awards :


(a)
a lump-sum gratuity for service as a daily-rated officer provided his total service is not less than 5 years (Note - he may elect, in lieu of receiving such a gratuity, to have his continuous daily paid service prior to transfer to monthly paid service to be deemed to be service in a non-established office for the purpose of calculating his retirement benefits under (b) below); and


(b)
a lump-sum gratuity in respect of his monthly-paid service if less than 10 years, or an annual allowance (with or without commutation) in respect of such service if not less than 10 years.
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